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. M7 27HE EZs

(CH: HE, %)
- 2 2013 2014. 8 | 2014. 9 2014.

HIZ= Mad| | Mdd| 1~9 Myd| | HE

of Al of | 1,059,169 67.0 92,820 91,205 | A1.7 0.9 | 833,696 25 67.7
&5 = | 779,040 493 68,910 67,540 | 220 0.0 | 618,000 23 50.2
ol | 81213 5.1 7,027 6,846 | 126 25 62,412 1.8 5.1
o 2| 110,573 7.0 9,348 9244 | 211 | 205 83,123 0.8 6.8
st = | 66,061 4.2 5,596 5,717 22 10.6 53,292 9.4 4.3
CH oF | 22,282 1.4 1,940 1,880 | A3.1 12.5 16,891 0.9 1.4
= o | 118,942 7.5 10,640 10,065 | A5.4 1.1 91,249 2.3 7.4
o] = | 86,878 5.5 7,753 7,280 | AB6.1 0.1 66,335 1.6 5.4
o cof| 12415 0.8 1,130 1,000 | 235 6.9 9,549 2.8 0.8
o Al 3| 18,208 1.2 1,636 1,580 | 234 3.8 41,399 5.9 3.4
E U (28) | 165,950 10.5 12,147 14,125 16.3 | A1.7 | 127,698 2.9 10.4
= a2 A | 15685 1.0 1,055 1,366 295 | 205 12,167 2.2 1.0
= ol | 42,645 27 3,101 3,508 131 | 230 32,545 25 2.6
o| & 2| of| 24,080 1.5 987 2,160 | 118.8 0.7 18,362 2.4 1.5
A © of| 13825 0.9 1,017 1,160 141 | 2128 10,714 | 203 0.9
A = | 11,858 0.7 1,115 1,036 | A71 | A36 9,277 5.5 0.8
7] Bl & & | 36477 2.3 3,095 3000 | 202 | a22 27,327 1.3 2.2
E 7| | 34,654 2.2 2,902 2893 | 203 | A3.1 25,720 0.3 2.1
C | S| 107,913 6.8 8,546 8230 | 437 | 268 80,248 | A1.6 6.5
2 Al oOf| 68,685 4.3 6,169 5900 | 244 6.0 53,406 3.1 4.3
f3zto| L} | 32,771 2.1 1,767 1,700 | 238 | 2370 21,403 | A14.2 1.7
= ol | 45822 2.9 3,893 3800 | A24 | 234 33,800 | 226 2.7
=2 2t A | 34163 2.2 2,946 2861 | 229 | 238 25,486 | 1.3 2.1
ob = 2| 7}| 15624 1.0 1,357 1,167 | 2140 | 210.8 12,032 37 1.0
£ = | 26,007 1.6 2,250 2,335 3.8 8.4 20,699 7.6 1.7
oy & F 5,588 0.4 419 404 | 236 | A10.2 4,016 | 249 0.3
k=] =S 4,688 0.3 339 330 | 227 | a121 3357 | A54 0.3
M M A | 1581491 | 1000 | 135167 | 134,421 | 206 | 20.1 | 1,230,764 21 | 100.0

= .
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MMA 657H= 7|=2

A2 : WSA, st22 HZEs
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. U 2 =501

- +2 2=
2 | ® [gsou] ovnl | 28 | maw | 80 | gdel | 2o | dad

1 4,940 121 2,465 -2.6 6,166 4.5 2,014 19.8
2 4,071 191 2,529 7.0 5,564 11.7 1,728 29.6
3 5,063 11.1 2,626 9.2 6,492 10.9 1,933 7.8
4 4,749 6.4 2,797 21.4 6,323 10.9 2,014 14.6

2014 5 4,710 5.8 2,642 5.9 6,213 5.2 1,844 9.3
6 4,779 9.8 2,631 11.9 6,288 7.0 1,852 35.4
7 4,849 6.1 2,752 12.7 6,416 6.8 1,921 18.2
8 4,368 11.4 2,641 16.6 6,014 14.2 1,746 8.4
9 4,384 5.8 2,796 24.3 6,000 9.0 1,970 33.3
1 4,406 AN 4 2,530 1.5 5,902 A0.6 1,656 3.0
2 3,418 A18.5 2,363 A 8.2 4,982 n12.7 1,376 A27.3
3 4,559 A12.1 2,404 A 3.5 5,852 A210.5 1,896 1.9
4 4,465 A5.0 2,303 A11.4 5,701 AT.5 1,718 18.8
5 4,453 A10.3 2,495 A4.6 5,906 ATT 1,605 A14.5
6 4,353 A25 2,351 AT9 5,875 A2.8 1,450 A21A1

2013 7 4,568 A 3.1 2,443 A2.4 6,008 A2.5 1,641 AB.4
8 3,920 A10.8 2,265 AB.7 5,268 210.6 1,643 A1.6
9 4,143 N2.2 2,249 A12.4 5,507 AB7 1,477 A1T7.7
10 4,487 2.8 2,618 1.8 6,081 3.2 1,570 AN B4
11 4,604 10.9 2,542 2.2 6,081 7.3 1,755 16.5
12 4,385 4.0 2,628 1.0 5,983 0.8 1,607 17.0
A 51,762 A43 | 29,191 A42 | 69,147 A4.0 | 19,393 A6.3
1 4,481 AN 4 2,492 0.8 5,937 A1.2 1,608 A13.9
2 4,192 159 2,575 32.9 5,708 5.1 1,891 4.3
3 5,184 A6.4 2,492 9.0 6,538 1.5 1,933 N23.4
4 4,702 A13.5 2,599 21.0 6,162 A2.6 1,883 A£19.7
5 4,965 AT.8 2,615 16.7 6,399 A0.3 1,876 A216.0
6 4,466 A8.3 2,553 4.7 6,045 A1A 1,839 A13.4

2012 7 4,715 4.6 2,504 3.8 6,161 6.1 1,734 A147
8 4,397 A1 2,428 A0.6 5,889 1.3 1,670 A5.1
9 4,235 1.2 2,566 A 3.5 5,719 Ar2.2 1,795 0.9
10 4,365 A0.8 2,573 A0.2 5,895 A1.2 1,697 0.3
11 4,152 N2.3 2,486 NT.T 5,666 AV ) 1,507 16.4
12 4,215 A 3.2 2,602 A6.5 5,933 A4.2 1,374 A47
A 54,069 A4 30,485 48 | 72,051 A0.3 | 20,706 A104
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F2 BN +EsH|
(el - %)
22 | "z Haizt e
=34 | g=n =24 | g=a =24 | g=a
'08 494 24.4 16.0 29.2 22.2 58 13.0 9.3 3.2
'09 45.3 13.1 21.8 25.9 18.3 6.9 6.3 1.8 3.6
10 47.9 16.6 21.1 30.1 21.9 8.1 7.6 2.7 4.2
11 41.0 18.1 15.9 30.0 24.4 5.6 51 2.1 2.8
12 38.3 18.9 15.0 29.4 25.2 4.0 55 2.7 2.8
13 37.5 19.2 14.9 32.9 30.0 2.4 50 3.2 1.8
‘14 1~9 40.6 23.9 13.2 37.1 33.9 25 6.3 54 0.9
oo | zem stag ol 2tk
=34 | gma |©TSHe) [ Z2A | amar |(STSHR) [ ZmAk | gl
'08 51.9 35.4 141 445 23.7 18.4 8.5 51 3.0
'09 41.6 21.8 18.3 42.9 10.4 25.0 7.7 3.3 4.4
10 37.0 20.5 15.9 40.7 12.9 23.9 15.4 49 7.6
11 37.2 22.1 14.3 29.6 11.5 14.6 19.7 7.2 9.0
12 37.9 21.6 15.5 27.8 12.3 13.2 20.1 11.3 6.7
13 32.7 18.9 12.9 26.4 10.4 14.3 21.2 15.2 5.7
‘14 1~9 34.5 21.3 12.2 36.2 19.1 15.9 21.4 16.2 3.7
g | 0= 2ai2im 243}
za [ z3n | g=a =24 | g=a =24 | g=a
08 7.6 14 6.1 11.1 10.5 02 | 183 | 103 4.9
09 8.5 25 5.3 4.2 3.3 06 | 135 6.7 4.0
10 15.0 6.7 8.0 6.9 6.4 0.0 16.9 9.6 5.0
11 25.1 12.8 11.6 9.1 8.6 0.0 22.4 12.8 5.5
12 20.7 10.9 9.4 18.8 18.5 0.1 21.2 12.2 4.9
13 22.3 15.2 6.9 221 21.9 0.0 221 11.8 53
‘14 1~9 23.3 19.1 3.7 35.5 34.9 0.1 23.8 12.2 5.8
EANTL
T2 | =z [zza [a=za | M [z3a [g=s
08 34.4 30.0 3.6 441 30.6 9.6
09 21.6 16.0 3.9 34.0 16.8 10.4
10 28.3 23.3 4.0 47.0 25.2 15.0
11 28.7 24.9 2.9 49.9 31.8 12.8
12 27.2 23.5 2.7 53.7 38.0 11.5
13 29.4 25.2 3.2 511 33.3 14.9
‘14 1~9 34.9 30.1 38 49.2 31.8 14.0
5 solmeHls SoymEEay
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